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PERIODIC TEST- Il
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CLASS: VIII MAXIMUM MARKS: 80

SUBJECT: BENGALI TIME: 3 HOURS

General Instructions:
1. The question paper contains 8 pages.
2. The question paper contains 17 questions.
3. The Question Paper is divided into two Parts.
PART — A : Objective type Questions (MCQ) : 25 Marks
SECTION - A ( Reading : Unseen Comprehension)
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DAV INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il
Session: 2023 - 2024
Class: VIII Maximum Marks: 80
Subject: Mathematics Time:3 Hours

General Instructions:
1. The question paper consists of five sections:

« Section I Question No. 1 to 12 are of 1 mark each. (10 are MCQ Type and 2 are
Assertion reasoning type Questions.

« Section Il Question No. 13 and 14 are of Case Study Based Questions. Each case
study has 3 case-based sub-parts, two of them are MCQ type (1 mark each) and third
sub-part is a short answer type (2 marks) having internal choice

« Section 111 Question No. 15 to 22 are Short Answer Type questions of 2 marks each.

« Section IV Question No. 23 to 30 are Short Answer Type 2 questions of 3 marks each.

« Section V Question No. 31 to 34 are Long Answer Type questions of 5 marks each.

2. Please write the serial number of the question before attempting it.

3. In questions of constructions / graph, the drawing should be neat, clean and exactly as per
the given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been given in some

questions.
Section — |
Which of the following numbers is not a perfect square?
A) 529 B) 961 C) 1024 D) 1222
V72 x 1/98="7
A) 42 B) 84 C) 64 D) 74
Find the cube root of 729.
A7 B) -9 C)9 D) 11

Which of the following is correct statement?
A) If x and y are in direct proportion, then 1/x and 1/;, are in direct proportion
B) If x and y are in direct proportion, then 1/x and 1/y are in inverse proportion
C) If x and y are in direct proportion, then 1/x and 1/y neither in direct nor in inverse
proportion
D) If x and y are in direct proportion, then 1/x and 1/y are sometimes in direct and
sometimes in inverse proportion

If two parallel lines intersected by a transversal then pair of alternate interior angles are-
A) equal B) supplementary  C) complementary D) none of the above

In the given figure, ABIIPQ, find y.

y P
59 9

B Q
A) 59° B) 121° C) 116° D) 118°

A side of the square with area (4x? + 12x + 9) square units is
A) (4x + 3) units B) (4x + 9) units C) (2x + 3) units D) (x + 3) units



8.  Anarticle was sold for 1596 at a gain of 12%, then its cost price was- 1
A)1230 B) 1425 C) 4567 D) 7890
9. The number of faces a tetrahedron has 1
A) 14 B) 12 C)6 D) 4
10.  The distance of a point from y-axis is called 1
A) ordinate B) y-coordinate  C) abscissa D) Origin
Direction: In question number 11 and 12, a statement of assertion (A) is followed by a statement of
reason (R). Choose the correct option out of the following:
11. Assertion(A): The marked price of a shirt is 940 and the shopkeeper allows a discount of 15%
on it. Then the selling price of the shirt will be X799. 1
Reason (R): to find SP, when MP and Discount % is given we use the formula:
100 — discount%
SP = MP x ( 100 )
A) Both A and R are true and R is the correct explanation of A.
B) Both A and R are true but R is not the correct explanation of A.
C) Ais true but R is false.
D) Ais false but R is true.
12.

Assertion(A): If x + i = 8, value of x2 + xiz is 62 1
Reason(R): (a + b)? = a? + b?
A) both A and R correct and R is correct explanation of A.

B) both A and R correct but R is not correct explanation of A.
C) Alistrue but R is false.

D) Ais false but R is true.

Section - 11
CASE STUDY BASED QUESTIONS

13 and 14 are Case Study Based Questions. There are three subparts out of which two are MCQ type carrying 1
mark each and one short answer question of 2 marks having internal choice. Attempt all subparts of each
question.

13.

14.

Case Study - 1
A shop named RAVI ELECTRONIC CENTER where different kinds of electronics goods 4
available. One day Ravi the shopkeeper. sold a watch for ¥ 990 and made a profit of 10%. He
sold a radio at same price and suffered a loss of 10%. At the day end he sat to check the total
transactions.
Answer the questions given below based on the above
information:
i) What is the cost price of watch?
A) 900 B) 2950 C) X 1000 D)X 1100
i) What is the cost price of Radio?
A) 900 B) X 1050 C) X 1000 D)X 1100
iii) Overall, how much Ravi losses on that day?
OR
Find the selling price of radio if Ravi wanted to get 5% profit?

Case Study - 2
To over-come the scarcity of water in a village, the villagers decided to dig a well 20 m deep 4
with diameter 7 m. The earth removed is spread uniformly to form a platform 22m by 14 m. The
raised platform was later used for panchayat meetings and other noble causes.
Based on the above information answer the following
questions:
i) Find the volume of earth that was dug out.

A)3080m3 B)38m3 C)770m3® D) 1540 m3
i) What is the height of the platform.
A)5m B)25m C)10m D)7.5m




15.

16.

17.
18.

19.
20.

21.

22,

23.

24,
25.

26.
27,

28.

29.

iii) If the radius of a cylinder is halved, what is the resultant change in its volume?
OR
The volume of a cylinder is 1507 cu. cm and its height is 6 cm, then find its total surface area.

Section — 111
In the given figure, if line m || line n and line p is a transversal, then find x.

Find square root of 7744 by prime factorisation.
OR
Find square root of 169 by repeated subtraction method.

Find the smallest number by which 2560 must be multiplied so that the product is a perfect cube.
Evaluate: /3375 x (—729).

OR
Prove that if a number is tripled, then its cube is 27 times the cube of the given number.
If 18 dolls cost X 630, how many dolls can be bought for % 455?

Find the area of a trapezium whose parallel sides are 24 cm and 20 cm and the distance between
them is 15 cm.

What is the distance from the point P (5, 6) from X-axis and Y-axis?
OR
What is the distance between the points A (0, 4) and B (0, 7)?

Factorise: x2 + 2x — 24

Section — IV
Find the least number of that must be added to 15370 to make it a perfect square? Also, find the
square root of the number so obtained.

Find cube root of 15625 through estimation.

In the given figure, show that (@ AB || CD
(b) EF 1| CD
(C) EF || AB

Factorise: x* — 256.

Draw a line segment AB = 5.5 cm. Find a point P on it such that AP = g PB.

OR
Divide a line segment PQ = 5.5 cm in three equal parts.

If 15 men can do a work in 12 days, how many men will do the same work in 6 days?

OR
A train travels 112 km in 1 hour 30 minutes with a certain speed. How many kilometres it will
travel in 4 hours 45 minutes with the same speed?

A garrison of 120 men has provision for 30 days. At the end of five days, five more men joined
them. How many days can they sustain on the remaining provision?



30.

31.
32.

33.

34.

If the cost price of 10 greeting cards is equal to the selling price of 8 greeting cards, find the
gain or loss percent.

OR
Manish sold a watch at 5% loss. Had he sold it for * 104 more, he would have gained 8%. Find
the selling price of the watch.
Section -V
Find the square root of 2 correct to three places of decimal.

The diameter of the base of a right circular cylinder is 4.2 dm and its height is 1 dm. Find the
curved surface area in cm?.
OR
A rectangular piece of paper is 22 cm in length and 10 cm in width. It is rolled into a cylinder
along its length. Find the curved surface area and volume of this cylinder.
The runs scored by a cricket team in 7 match league are given below.
Matches 1 2 3 4 5 6 7
Runs

250 290 320 225 285 | 300 | 290
Scored
Draw a line graph for the information given above.

. o 2.3%2.3-0.3%0.3
Simplify: .
2.3X2.3—2X%2.3X0.3+0.3x0.3

OR
If @ — ~ = 5/find the value of (i) a? + —.

(i) a*+—
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D.AV.INSTITUTIONS, WEST BENGAL ZONE

PERIODIC TEST Il
SESSION 2023-2024

CLASS: VI MAXIMUM MARKS: 80

SUBJECT: ENGLISH TIME: 3 HOURS

General Instructions: -

1. All questions are compulsory

2. This paper consists of three sections: A, B, and C and 14 questions
3. Internal choices are given wherever applicable

1.

1.1.

SECTION -A (READING) (20 marks)

Read the passage given below and answer the questions that follow.

1.1t is notable that power major NTPC has joined hands with oil giant 10C to set up a series
of electric vehicle (EV) charging stations in cities and along highways. There is much
potential for India to emerge as a leader in small and public EVs, given high latent demand.
The benefits in reducing demand for imported crude oil can be huge, apart from reducing
carbon emissions and other air pollutants.

2.The most effective way to bring down carbon emissions and pollution from transport is
to vastly expand and improve public transport — buses are just 2% of the vehicles on the
road. That said, there is much scope to replace India’s giant fleet of two-wheelers with
electric bikes. India has over 160 million two-wheelers, and sales data from the last six
years show that 79% of on-road vehicles here are two-wheelers. It would make perfect
sense to boost supply of EVs, especially two-wheelers, e- rickshaws, tempos and small
cars, so as to complement and supplement public transport going forward.

3.Estimates suggest that by meeting a rising part of the incremental demand for mobility,
EV:s can lead to macroeconomic benefits, and sooner rather than later.

4.Assuming only about half a litre of petrol consumption per two-wheeler daily, or about
200 litres annually, the volumes would add up to over 30 billion litres. And the bill for
which, at current prices, would amount to well over Rs 2 lakh crore.

5.In tandem, we need power reforms to rev up utility realizations and strengthen the grid.
India also has an opportunity in supplying on-board electric batteries. Swapping services to
provide charged batteries on lease would step-up diffusion of EVs. A power-electronics
industry ecosystem would raise production and provide high- efficiency subsystems for
EVs. India must not miss the bus on EVs.

a) “There is much potential for India to emerge as a leader in small and public EVs,
given high latent demand.” What can be logically deducted from the given sentence?
Choose the correct answer from the options given below.

I. Electric vehicles are less in developed countries as compared to India.

ii. India has not yet adopted electric vehicles fully.

iii. Indians are already demanding a huge number of electric vehicles.

iv. India has no potential for fuel run vehicle

Page-1
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1.2.

b) Which of the following is/are true with respect to the two wheelers in India?
1. India has over 160 million two-wheelers.
2. 79% of on-road vehicles in India are two-wheelers.
3. People prefer two wheelers to four wheelers due to ease of use.
i) Only 1
ii) Only 2
iii) Only 1 and 2
iv) Only 1 and 3
¢) Which of the following is the intention of the writer?
1) convince people to buy EVs
ii) provide data of fuel run vehicles
iii) explain why EVs are important
iv) analyse India’s future prospects in the field of EVs
d)What can be a suitable title for the given passage?
1) Future of public transport in India
ii) Charging stations in cities of India
iii) Gear up for e-surge in tempos and bikes in India
iv) Bring down carbon emissions in India
e) Which of the following words, given in options below, is the most similar in
meaning to the phrase given in bold-In tandem (paragraph no-5)
i) separately
i) individually
iii) together
Iv) isolated
a) Providing charged batteries on lease would reduce diffusion of EVs in India- True/False 1x3=3
b) Fill in the blanks: -
There is much potential for India to as a leader in small and public EVs, given high
demand.
c¢) Find a word/phrase from paragraph 5 which means- to become more active.

Read the following passage carefully and answer the questions that follow. 1x12=12

1. Man suffers from a distorted complex. He always considers animals as inferior beings
only fit for exploitation. Man has been using domestic and wild animals for his selfish ends.
Many animal lovers joined together to form the ‘Society for Prevention of Cruelty to
Animals’.

2. The society has been working for the well-being and welfare of animals for many years. Its
main aim is to change the attitude and thinking of people towards animals. Itis quite sad that
animals continue to be ill-treated, tortured and killed according to the whims of the people.
About 15% of the people entertain the belief that animals are man’s slaves. They use, misuse
and torture them accordingly. About 50% of the people exploit animals for selfish ends.

CRUELTY ON ANIMAL




3. Horses and oxen are used for transport, carrying loads and in agricultural activities. Dogs,
cats and many birds are domesticated for fun, entertainment and convenience. Wild animals
like elephants, tigers, lions and deer are victims of poaching and killing. Animals are forced to
do acrobatic feats in circus shows. Unfortunately, about 35% of people don’t think about the
animals at all. They are totally indifferent to them.

4. The Government and the animal lovers must work together to bring a change in the attitude
of the people. Animals should not be killed and poached for fun, furs or financial gains. They
should be treated with kindness, care and sympathy. Cruelty towards animals must be legally
punished.

(1) In the line ... fit for exploitation”, the word “exploitation’ does not refer to:

(a) abuse (b) ill-treatment (c) oppression (d) utilisation

(i) "Society for Prevention of Cruelty to Animals’ has been working for manyyears
for the --------------m-omm e .
(@) grooming of animals (b) exploitation of animals
(c) welfare of animals (d) farewell of animals
(iii) In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statement and choose the correct option.

Assertion (A): It is very disappointing that animals are still ill-treated.

Reason (R): The Government and the animal lovers must work together to bring achange
in the attitude of the people.

Options:

(@) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(c) (A) is correct but (R) is wrong.

(d) (A) is wrong but (R) is correct.

(iv) For what activities do people use horses and oxen?
(@) Carrying loads (b) Transport
(c) Agricultural activities (d) All of the above

(v) For fun, entertainment and convenience, man domesticates .
(@) horses (b)elephants (c) dogs (d)deer

(vi) The given sentence —
‘Wild animals like elephants, tigers, lions and deer are victims of poaching andkilling.’
Refers to the fact that (Choose the correct option)
(@) Poaching is a legal activity (b) Poaching is an illegal activity
(c) Poaching is a licensed activity (d)The poachers hunt in the wild for meat
(vii) Animals should be used in circus to earn one’s livelihood. (True/False)
(viii) aims to change the attitude of man towards animals.

(ix) What does the word ‘indifferent’ in para 3 mean?

(x) Based on your understanding of the passage, list, at least two activities done by
humans that abuse animals.

(xi) How, according to you, the animals would like to be treated?

(xii)According to the data provided, how do maximum people treat animals?
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SECTION B: WRITING & GRAMMAR (30 Marks)
3. Answer any ONE question. 4x1=4

Your school is going to organize a cleanliness campaign in the surrounding area. Write a
notice in 50 words for school notice board, informing students to prepare poster/banner/digital
slide show/video to be used in the campaign. Give all the necessary details. (50 words)

OR
On the basis of the given telephonic conversation, write a message in not more than 50 words.
Put the message in a box.

Akriti: Hello Rahul! Is Daniel at home?

Rahul: No Akriti.

Akriti: Where has he gone?

Rahul: | don’t know.

Akriti: Please tell him that Computer Science exam will be held as soon as the school re-

opens. Term -1 Dharma Shiksha syllabus will be the first five chapters instead of
four. Tell him that the map work in History includes only the Scandinavian

countries.
Rahul: Thanks.
4, Answer any ONE question. 8x1=8

Generation Gap refers to the differences in actions, beliefs, interests and opinions that exist
between individuals from different generations. Today, we can see the accelerating rate of
change in the society. Hence, generation gap is inevitable. Disagreements over taste in music,
fashion, values, personality and manners between parents and children are common and affect
their interaction. Write an article on "Bridge the Gap" taking ideas from the Unit "Changing
Times”. (Word Limit: 100-120 words)
OR

Tomorrow belongs to people who prepare for it today and success can always be achieved
with confidence and positive attitude. Taking ideas from the unit ‘Enterprise’along with your
ideas prepare a speech to be delivered in the morning assembly. (Word Limit: 100-120 words)

5. The following passage has not been edited. There is an error in each line. Writethe 1x4=4
incorrect word and the correction against the correct question number.
ERROR CORRECT

Cardamom, the queen of all spices have a 0]

history as old as a human race. (i)

It is the drying fruit of herbaceous perennial plant. (iii)

Indian Cardamoms are truly unique with aroma.  (iv) ___
6. Rearrange the following words and phrases to form meaningful sentences. 1x4=4

a. healthy person /germs /a/ carry / may/ of/ in /body/ typhoid,/
his/cholera,/dysentery,/etc.

b. person/does not/such/usually/a/disease/suffer/the/from

c. people/however, /who/into contact /carrier/come/ with/may/ catch/disease/ the/ the/
d. immunity / people/ of/ develop/ avoiding / therefore/instead/, /
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10.

Read the following dialogue between Garima and Karan. Complete the paragraph 1x4=4
that follows by filling in the gaps appropriately.

Garima: So, after a decade in the industry, are you truly ‘satisfied’?

Karan: I love the film industry. It has its flaws though.

Garima: What do you mean by this statement?

Karan: We are a bunch of competitive, ambitious, sometimes petty people.
But the passion cements us together.

Garima asked Karan if after a decade in the industry (a) . Karan told her

(b) although it had its flaws. Garima then enquired (c)___ . Karan explained that

(d) . He also added that the passion cemented them together.

Fill in the blanks with the correct form of verb. 1x3=3

As per the prediction of the Met. Department, it (a)___ (rain) tomorrow. On hearing this,

the farmers (b)___ (start) dancing. There (c) (be) no rain in their area for a long

time. This weather prediction made everyone happy.

Do as directed: 1x3=3
(@) He swim very well in his youth. (Fill up the gap with a modal)

(b) Simple living and high thinking Gandhiji’s philosophy. (Fill in the gapwith

correct form of verb ‘be’ that agrees with the subject)

(c)Since everyone was busy in work | brought all the items myself. (Join thetwo

sentences with a suitable Linker)
SECTION C: (LITERATURE) (30 Marks)

Attempt ANY ONE extract out of the two given below. 1x4=4

i) “To face the world without fear and with His strength.

We will meet again on the great Judgement Day, My Mother!”
a) Name the poem and the poet of the above extract.
b) What characteristics of the poet’s mother do we find in the poem?
¢) When does the poet expect to meet his mother again?
d) What message does the poem ‘My Mother’ convey?

OR

i) “Teach us to look in all our ends

On Thee for judge, and not our friends;

That we, with Thee, may walk uncowed

By fear or favour of the crowd.”
a) Name the poem and poet of the above extract.
b) What does the poet mean by the phrase ‘On Thee for judge...friends’?
¢) What does the poet want when he says ‘walk uncowed’?
d) What does the poet mean by the phrase ‘by fear or favour of the crowd’?
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11.

12.

13.

14.

Read the extract and answer the questions that follow: (Attempt ANY ONE) 1x4=4

1) “Because it’s not our kind of school, stupid. This is the old kind of school that theyhad
hundreds and hundreds of years ago.”
a) Who is the speaker of the above lines?
b) How was Margie’s school different from that of the time of her great grandfather?
¢) Which school Margie liked more and why?
d) Explain the phrase in reference to the above context: ‘Centuries ago’.
OR
i) “Loaf about less on Sundays and you will be without a headache on Monday.”
a) Who is the speaker and who is being addressed?
b) Why is there a reference to a headache?
c) Why does the speaker say this?
d) What do you mean by the phrase ‘loaf about less’?
Attempt ANY SIX short answer type questions. [30-40words] 2x6=12
a) How did the king and the hermit help the wounded man? (Three Questions)
b) “My grandmother was a genius” says the poet. lllustrate. (Granny’s Tree Climbing)
c) Give two differences between your school and Margie's School.
d) "My hobby is perhaps a little out of ordinary"-what was extraordinary about the
narrator's hobby?
e) How did the poet APJ Abdul Kalam's mother act as a source of inspiration to him?
f) Justify the statement, “But | had my revenge at last.” (The Luncheon)
g) Why didn’t the poet name any country in the poem ‘The Children’s Song’?

“The writer condemned machine learning as physical schools and human teachers offer more 4x1=4
benefit than machines.” Explain this in 70- 80 words with reference to the story
‘The Fun They Had’.
OR
Analyse the character of Swami’s father in the light of his unsympathetic treatment of
Swami, accepting the challenge of Mr. Samuel’s anger and writing a letter complaining to the
headmaster against Mr. Samuel. (70-80 words)
Suppose you have just reached the age of 18, an adult. You recall what you always wanted to  6x1=6
do for your motherland. Draft a page in your diary in 100 words expressing how would you
like to serve your country with ‘Head, heart and hand’
OR
Suppose the doctor, who examined the Granny after she failed to get down from the tree,
writes a page in his diary about the old lady who had a strange and uncommon passion. Draft
the page of his diary in 100 words expressing his experience.

*hkkhkhkhkhhhhkhkkkkkhkiiik
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D.AV. INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il

SESSION: 2023-2024
Class: VIII Maximum Marks: 80
Subject: Science & Technology Time: 3 Hours

General Instructions:

1) The question paper comprises five sections- A, B, C, D and E. There are 38 questions in the question
paper. All questions are compulsory.

2) Internal choice has been provided in some questions. A student has to attempt only one of the alternatives
in such questions.

3) Section A consists of question number 1-19. These questions are MCQs and Assertion-Reason questions.
They carry one mark each.

4) Section B consists of question number 20 to 25. These are short answer questions which carry two marks
each.

5) Section C consists of question number 26 to 31. These are short answer question which carry three marks
each.

6) Section D consists of question number 32 to 34. These are long answer questions which carry five marks
each.

7) Section E consists of question number 35 to 38. These are case based questions which carry four marks
each.

SECTION-A
1. Land and sea breezes are caused due to 1
a) variation of atmospheric pressure with temperature
b) liquid pressure
c) variation of atmospheric pressure with altitudes
d) Magnetic force

2. Which of the following surfaces provides the minimum friction? 1
a) Wet towel b) Oily marble floor
c) Surface of cardboard d) Surface of a new tyre

3. Force applied to move a box can be minimised by: 1

a) Putting extra weight on it
b) Making the surface rough
c) Keeping the box on rollers
d) All of the above
4. Which of the following gives the odd pair? 1
a) Sea water and NaCl solution b) Sulphuric acid and Nitric acid
c) Tap water and acetic acid d) NaOH solution and hydrochloric acid

5. Which of the following phenomena converts electrical energy into chemical energy? 1
a) electrolysis b) electromagnetic induction
c) heating effect of current d) magnetic effect of current
6. The gas produced, due to incomplete combustion of carbon fuel is 1
a) Nitrogen b) hydrogen
b) carbon monoxide c) carbon dioxide
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10.

11.

12.

13.

14.

15.

16.

17.

18.

An example of non-combustible substance is
a) Diesel b) Petrol c) Coal d) Iron
Water is an inexhaustible natural resource. Which of the following is another
inexhaustible natural resource?
a) Petroleum b) Coal c¢) Sunlight d) Minerals
Destructive distillation of coal is done to get some useful products. One of the
products so obtained and used for extraction of metal is
a) coke b)coal gas c)coaltar d) CNG

Study the picture and state which cell is most likely to be an amoeba?

The picture shows three types of cells.

Cell 1

Cell 3
= /

a)cellLandcell2 Db)onlycell2 c)onlycell1 d)cell 1andcell 3

Which of the following cell organelle is associated with the bright colour of a flower?
a) Plastid b) Mitochondria c) Vacuole d) Endoplasmic reticulum
Identify the bacteria that cause food poisoning.

a) Anthrax b) Aspergillus ¢) Rhizobium d) Lactobacillus

Identify the fungal diseases which is commonly observed in poultry birds.
a) Rabies b) Tuberculosis

¢) Canine distemper d) Foot and mouth disease
Correlate and find the missing word.

Heat treatment : sterilization :: Vaccination :
a) Pasteurisation b) Fermentation
¢) Immunisation d) Bioaugmentation

Microorganism X is used in the making of bread, idli and dosa by a process known as Y.
Identify X and .

a) Cyanobacteria, Drying b) Lactobacillus, Fermentation
c) Yeast, Fermentation c) Vibrio Cholerae, Sterilisation

For Question number 16-19, two statements are given. One labeled Assertion (A) and the
other labeled reason (R). Select the correct answer to these questions from the codes (a),
(b), (c) and (d).

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.

c) Ais true but R is false

d) A is false but R is true.

Assertion(A): Gymnasts often apply chalk powder on their hands to have better grip of
uneven bars.

Reason(R): The chalk powder increases friction between their hands and uneven bars.

Assertion(A): Sea water does not conduct electricity.

Reason(R): Sodium chloride solution conducts elctricity.

Assertion(A): Burning of coal and diesel releases sulphur dioxide gas which is extremly
suffocating gas.

Reason(R): Sulphur dioxide gas is not responsible for acid rain.
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19. Assertion (A): Some organisms have cilia and flagella in the nucleus. 1
Reason (R): Cilia and flagella help in locomotion and collection of food.

SECTION-B

20. Two tiny holes of same size are made in a plastic bottle at the same height as shown in the 2
figure. Cover them and fill it with water. Now remove the cover.

a) State your observation.
b) Give reason.

21. Suppose, you are trying to hold a smooth glass container first with dry hand and then with 2
oily hand. In which case it is easier to hold the glass container and why?
22. Give reasons for the following statements: 2

a) CNG is a better fuel for automobiles.
b) We should use petrol/diesel only when absolutely necessary.

23. Identify the following as cells, tissues and organs. 2
a) Ear b) RBC c) Blood d) Skin
24, Give reasons: 2

a) Salt is added to pickles to preserve them.
b) The longer we leave the curd at room temperature the more sour it tastes.
OR
State any two symptoms caused by tobacco mosaic virus in plants.
25. How do communicable diseases spread? Suggest two ways to prevent the diseases. 2

SECTION-C
26. a) Two rods of the same weight and equal length have different thickness. They are held  1+2
vertically on the surface of sand as shown in the figure below. Which one of them will sink
more? Why?
A B

Sand

b) Calculate the pressure exerted by rod A on sand shown in the above figure if it weighs
30 N and occupies an area of 0.6m?2.
OR
Give reasons for the following:

a) It is much easier to burst an inflated balloon with a needle than directly with a finger. 1
b) Porters place a round piece of cloth on their heads when they carry heavy loads.
c) Sea divers need special protective suit.
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28.

29.

30

31.

a) Define the process electroplating. 1+2
b) Enlist any two conditions necessary for the process.
The material ‘A’ is a fossil fuel. It is formed from the plants got buried deep under the 3

earth’s crust by a very slow process ‘B’. When ‘A’ is heated in absence of air, it gives

three products.

a) Identify the material ‘A”’.

b) Name the process ‘B’ and also define it.

¢) What are the products obtained when ‘A’ is heated in absence of air?

a) M is a black and sticky solid used for making roads and coating the underside of the 2+1
electric poles. N is a white semi-solid which is often used as grease. O is a viscous oil used

as a lubricating machine. P is used as domestic fuel as well as in lanterns.

Identify M, N, O and P.

b) State one difference between lignite and bituminous coal.

Match the following for the flame of a candle: 3
Column A Column B Column C
(@) hottest (1) innermost zone of
part unburnt wax vapour (x) blue

(ii) middle zone of partial

(b) moderately hot combustion (y) black
(iii) outer zone of complete
(c) least hot combustion (2) yellow
OR

Complete the following table by using the given data:

Fuel Amount of fuel | Calorific value Amount of heat
(in Kg) (in KJ/Kg) release (in KJ)

A 3.5 3000

B 2 8000

Which fuel between A and B is more efficient and why?

a) Label the parts ‘A’ to ‘E’ given in the above diagram. 3
b) What is the function of the part
labelled “C". ¥ A

B

E

C

D




32.

33.

34.

SECTION-D

An electrode’A’ is connected to the positive terminal while electrode ‘B’ is connected to 5
the negative terminal of a battery, as shown in the diagram.

1) | (o —

Tap Water.

a) Give the names of the electrodes A and B.
b) Name the phenomenon associated with the circuit shown in the above figure.
¢) Name the gases produced at A and B.

d) State two uses of the above phenomenon.
OR
Refer to the figure given below and answer the following questions-

s \

a) If the magnet is moved towards the coil in case | with a speed of 6m/s and in case 11
with a speed of 4m/s, then compare the induced current in both cases.

¢) Name the phenomenon described by the diagram and also mention the name of the
scientist who introduced this phenomenon to the world.

d) What will happen if the magnet is stationary?

e) Name a device that works on this phenomenon. State the conversion of energy taking
place in this device.

a) Two paper cups, one with water in it and other one empty, are heated slowly one by one.  2+3
What will happen to both the cups? Justify your answer
b) State the three conditions that are needed for combustion to take place.

OR
2+2+1

a) Identify the following combustion:
1) Burning of cow dung cake.
ii) Piece of sodium metal kept in air.
iii) Burning of LPG.
iv) When a cracker is ignited.
b) Mention any two characteristics of a good fuel.
c) Define ignition temperature.
Which diseases the following children are most likely to suffer from? 5

a) Ramu drinks water from a nearby lake. This water is neither boil nor disinfected.
b) Ashu does not take a bath every day. He maintains poor personal hygiene.
¢) Mohan was with two of his friends who were coughing and sneezing (they were
suffering from common cold). One of these friends did not keep a Handkerchief in front of
mouth while coughing and sneezing.
d) Pulkit has been bitten by an infected street dog.

Page5



35.

36.

e) Soham is living in an area Where the population is very high. He does not use mosquito
net (while sleeping), or insect-repellent creams (while playing in the open).

OR
a) Some microbes are used in the biological treatment of sewage and industrial waste.

1)  Which type of microbes can be used for this process?
i) What is this process known as?
b) lllustrate the role of rhizobium bacteria in agriculture.

c¢) In polio vaccination, the dead microbes are introduced into the children’s body. How
does this vaccination protect the children from polio?(Mention any two points)

SECTION-E

Question number 35 to 38 are case study based questions and contain five sub-parts
each. You are expected to answer any four sub-parts in these questions.

In simple terms, force is just a way for two objects to interact. Its effect is that of a push or
pull and it causes a change in the position and/or speed of the object it is being applied on.
The application of force also lends us the possibility of doing work as the object gets
displaced. Force has both magnitude and direction. Therefore, for two forces to be truly
equal, they must have the same magnitude and be applied in the same direction. When two
forces of the same magnitude are applied on a body in opposite directions, they are said to
be balanced. In such a case, the net force on the body is zero. An unbalanced force is
encountered when the net force on the body isn’t zero.

a) What effect is shown in the object under the action of balanced forces?
b) Give two examples of contact force.

c) Name the non-contact force acting on falling rain drop.

d) In a tag of war between team A and team B, both

team A and B are applying the force 20N. Will any HN
team win this match? Justify your answer. SN -
e) Find the resultant force acting on the

block as shown in figure. Mention the direction ¢ @
of the resultant force as well.

Friction is a force that opposes any relative motion between the surfaces of two objects.
We call the force of friction as static friction when it exists between two surfaces between
which there is no relative motion.The force of friction, between two objects when one of
them is sliding over the surface of the other is called sliding friction. Rolling friction is
much less than the sliding friction. The maximum value of the force of static friction is
called limiting friction.

a) You are pushing one light and another heavy object on a same floor. In which case will
you face more difficulty and why?

b) Fishes and aeroplane are very similar in their shape. Write the name given to such
shape.

¢) Mention two ways to reduce the friction.

d) Arrange the sliding, rolling and statics friction in decreasing order.

e) When an object moves through a liquid, the liquid applies a force against this motion.
Mention one factors on which this opposing force depends.
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37.

38.

Shreya, a student of class VIII, introduced the glass slide into a part of candle flame. She
kept it like that for minute and then withdrew it from flame. She observed a circular,
greyish black ring form on the glass slide.

Answer the following questions from the given paragraph.

a) Name the zone of the flame in which she introduced the slide

b) State the reason for her observation

¢) Why is there no deposition in the middle of the ring?

d) Define flame.

e) Write down the kindling temperature of white phosphorus.

Aradhya was attending her biology class. Her teacher drew the structure of a cell on the

board. The teacher also drew a network of interconnected membranes near the nucleus of
the cell. She said that it provides channels for transport of materials in the cell. Some of
these membranes showed some beaded structures studded in them, whereas some did not
have any such attachments.

a) Name the network of interconnected membranes that the teacher drew near the nucleus.
b) Name the beaded structure present on the membrane network.

c) State the function of the network of membranes without the beaded

attachment.

d) Name the organelle involved in processing and packaging of materials produced by the
cell.

e) If plastid is absent, then name the type of cell drawn by the teacher on the board.

*khkkkkikkkk
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST-II
SESSION: 2023 — 2024

Class: VIII Maximum Marks: 80
Subject: SOCIAL SCIENCE Time: 3 Hours

General Instructions:

. Questions paper comprises Six Sections — A, B, C, D, E, and F and 7 pages.

2. There are 37 questions in the question paper. All questions are compulsory.

3. Section- A- Question nos. 1 to 20 is MCQs. of 1 mark each.

4. Section- B- Question nos. 21 to 23 is of very short answer type questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

5. Section- C - Question nos. 24 to 28 are of short answer type questions, carrying 3 marks
each. Answer to each question should not exceed 60 words.

6. Section- D Question 29 & 30 is 4 source based questions, carrying 4 marks each.

7. Section- E Question nos. 31 to 35 is of Long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

8. Section- F- Question nos. 36 and 37 Map Based questions, Geography (4 marks) and
History (2 marks)

9. There is no overall choice in the question paper. However, an internal choice has been
provided in a few questions. Only one of the choices in such questions have to be
attempted. 10. In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION - A
Identify which of the following steps are necessary for sustainable development.
(A) Use all renewable resources judicially
(B) Conserve the variety species
(C) Minimize the depletion of natural resource
(D) All of the above

[

Trees of medium height(30-40m) are found in-
(A) Tropical deciduous forest

(B) Coniferous forest

(C) Mediterranean forest

(D) Tropical evergreen forest

Modern period of Indian History began in the —
(A) Sixteenth Century

(B) Seventeenth Century

(C) Eighteenth Century

(D) Ninetieth Century

Identify the irrigation from the given picture:

(A) Sprinkler irrigation.
(B) Drip irrigation.
(C) Tube irrigation
(D) None of the above.
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10.

11.

Identify the name of the author of Anandmath?
(A) Lalalajpat Rai

(B) Mahatma Gandhi

(C) Bankim Chandra Chattopadhyay

(D) Bal Gangadhar Tilak

Which of the following statement/s regarding the Permanent Settlement is/are
incorrect?

I.  The system gave birth to a new class of landlords.

Il. The system was introduced in Bengal by Thomas Munro

[11. In this system the revenue was directly collected by the cultivators.

IV. Zamindars had the power to evict any -cultivator of the soil due to

nonpayment of revenue.
(A) I, lland IV
(B) Only 11
(C) Only I
(D) Il and 111

The tribals who practiced shifting cultivation was
(A)Khonds

(B)Van Guijjars

(C)Gaddis

(D) Mundas

Choose the incorrect option about the suppression of the revolt by the British —
(A) British military officers freed epicenter of the revolt

(B) The Kashmir gate was blown up

(C) Lucknow was recaptured

(D) Bahadur Shah Zafar Il was killed by the British in the battlefield

Identify the most appropriate statement regarding the Preamble of the Indian
Constitution from the following options:

(A) It has religious philosophy.

(B) It is a feature of the Constitution.

(C) It is the Soul of the Constitution.

(D) Itis judicially enforceable.

Select the correct order of True or False in the given statements:

(i) The Constitution of India has abolished the practice of
Untouchability.
(ii) All religions are given equal status in India.
(iii) Indian Constitution has adopted a unitary form of government.
(iv) The Judges are appointed on the basis of their political preference.
Options:

(A) True, False, False, True
(B) True, True, False, False
(C) False, True, False, False
(D) True, False, True, False

Most of the provisions of Indian Constitution can be amended by-
(A) Simple majority

(B) Special majority

(C) Special majority with ratification by the State Legislature.
(D) Simple majority with ratification by the State Legislature.
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12.

13.

14.

15.

16.

17.

18.

Select the statement which is not related to Fundamental Right —

(A) Fundamental Rights cannot be violated.

(B) These rights can be addressed in any court of law.

(C) These are given to the citizens by the Constitution of the country

(D) The Fundamental Rights represent the basic demands and
aspirations of citizens

Read the passage given below and answer the question that follows:

Mohit is a 13-year-old boy. His parents are very poor. To meet the daily needs of the
family Mohit has to work as a labourer at a construction site.

Which Fundamental Right of Mobhit is being violated in such case?

Identify the Directive Principals which has been implemented as fundamental right in
future?

(A) Right to Work

(B) Environment Protection Act

(C) Right to Education

(D) National Commission for the welfare of women

Consider the following statements:

I. Union Territories are not represented in the Rajya Sabha.

I1. According to the Constitution of India, the Parliament consists of
the Lok Sabha only.

I1l. The ex-officio Chairman of the Rajya Sabha can exercise his/her
voting rights only during Joint session of the Parliament.

Which of the statements given above is/are correct?

(A) lonly
(B) 1l only
(C) and Il only

(D) None of the above
The makers of our Constitution divided all the subjects on which laws could be made —
(A) To secure the power of central government
(B) To ensure that the Union and the State Governments have a
definite jurisdiction of legislative powers without any conflict
(C) To avoid the overlapping of functioning of Union and State
Governments
(D) BothBand C
The number of nominated members in Rajya Sabha is -
(A) 13
(B) 14
(©) 12
(D) 15
Two statements are given in the question below as Assertion (A) and Reasoning (R).
Read the statements and choose the appropriate option.

Assertion (A)- Land degradation, landslides, soil erosion, desertification are the major
threats to the environment

Reason (R)- People started encroaching the common lands to build up commercial
areas, housing complexes in the urban areas and to expand the agricultural land in the
rural areas.

Page-3



19.

20.

21.

22,
23.

24.

25.

26.

27,

28.

Options:

(A) Both A and R are true, and R is the correct explanation of A.

(B) Both A and R are true, but R is not the correct explanation of A.

(C) Ais true but R is false.

(D) A is false but R is true.

Two statements are given in the question below as Assertion (A) and Reasoning (R).
Read the statements and choose the appropriate option.

Assertion (A): In India no discrimination is made on grounds of religion.

Reason (R): India is against exploitation in all forms and will try to establish economic
justice without being attached to any particular ideology.
Options:

(A) Both A and R are true, and R is the correct explanation of A.

(B) Both A and R are true, but R is not the correct explanation of A.

(C) Ais true but R is false.

(D)A is false but R is true:

Two statements are given in the question below as Assertion (A) and Reasoning (R).
Read the statements and choose the appropriate option.

Assertion (A): Speaker of Lok Sabha presides over the joint meeting of both the
houses.

Reason (R): Speaker of Lok Sabha is elected by the member of Lok Sabha and Rajya
Sabha both.

Options:

(A) Both A and R are true, and R is the correct explanation of A.

(B) Both A and R are true, but R is not the correct explanation of A.

(C) Ais true but R is false.

(D)A is false but R is true:

SECTION -B
‘National Parks and Wild Life Sanctuaries are not same in their features’. Explain.

List any two contributions of the Constituent Assembly of India.
Differentiate between Fundamental Rights and Fundamental Duties.

SECTION-C
‘The quality and quantity of people of a country determine its human resource’. Give
three suitable arguments in favour of this statement.

Identify any three sources which give us adequate information about the contribution
of freedom fighters.

Identify any three social changes brought by the British Government which were
considered as interference in the customs and traditions of the Hindus.

OR
Describe the course of the revolt of 1857.

Mention any three purposes which constitution of India serves towards strengthening
democracy.

Give any three examples to illustrate that it may be necessary to impose restrictions on
rights so that everyone can enjoy them.

OR
“Rights and duties go together.” Explain the statement by giving three suitable
examples of fundamental duties.
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29.

30.

31.

32.

SECTION - D
Read the source given below and answer the questions that follow:

Planning is the widely accepted strategy for judicious use of resources. It has
importance in a country like India, which has enormous diversity in the availability of
resources. There are regions which are rich in certain types of resources but are
deficient in some other resources. There are some regions which can be considered
self-sufficient in terms of the availability of resources and there are some regions
which have acute shortage of some vital resources. For example, the states of
Jharkhand, Chhattisgarh and Madhya Pradesh are rich in minerals and coal deposits.
Arunachal Pradesh has abundance of water resources but lacks in infrastructural
development. The state of Rajasthan is very well endowed with solar and wind energy
but lacks in water resources. The cold desert of Ladakh is relatively isolated from the
rest of the country. It has very rich cultural heritage but it is deficient in water,
infrastructure and some vital minerals. This calls for balanced resource planning at the
national, state, regional and local levels. Resource planning is a complex process which
involves identification and inventory of resources across the regions of the country.
This involves surveying, mapping and qualitative and quantitative estimation and
measurement of the resources. Evolving a planning structure endowed with appropriate
technology, skill and institutional set up for implementing resource development plans.
Matching the resource development plans with overall national development plans.

29.1) “Resource planning is necessary for the country like India”-
Justify.

29.2) Define Resource planning.

29.3) “Resource planning involves various stages”-Analyse.

Read the source given below and answer the questions that follow:

The East India Company wanted to collect maximum taxes to meet their military and
administrative expenses. They also wanted to gain maximum profit. So, the company
started using coercive methods to produce goods which were in great demand in
Europe. The agricultural raw materials was purchased at very low rates and send to
England. The finished goods were brought back to India and sold at high price to earn
more profits. The Company forced the farmers to grow cash crops like indigo, cotton,
opium, pepper, tea, sugarcane etc. and compelled them to raise silkworm for the
production of raw silk. The Britishers wanted to smuggle and sell opium to China so
they could earn huge profits. Similarly indigo was in great demand in the textile
industries of Britain.

30.1) “East India Company wanted to collect maximum taxes.” — Give reasons.

30.2) How did British Government systematically destroy our natural resources?

30.3) Why did the Company force the Indian farmers to grow cash crops?

SECTION - E

The Latur district of Maharashtra and many other districts were severely affected by
drought in the year 2016-2017 due to the deficient rainfall as a result of global
warming. As an aware citizen develop a few plans to combat this situation.

List the points you would like to highlight during a Radio Talk Show on conservation
and importance of wildlife.

OR

Highlight any two features of the trees found in the Mediterranean forests that help
them to retain moisture in the dry summer season. Mention any three measures taken to
protect the wildlife.
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33.

34.
35.

36.

37.

State the main evils of the land revenue policy of the British.
OR
Discuss the impact of British Rule on the Tribal life.

Describe any five provisions of the Queen's Proclamation Act of 1858.
Elucidate the legislative powers of the Parliament.

35(0OR)
Explain any three functions of ex-officio Chairman of Rajya Sabha. Mention any two
essential qualifications to become a member of the Lok Sabha.

SECTION - F

On the political map of the world some features are marked as A, B, C and D. Identify
them with the help of the information given and write their correct names on the lines
drawn near to them.
A) An area having low rainfall in Africa
B) An area having high rainfall in Asia.
C) A type of forest in South America.
D) A type of forest in Eurasia.
On the outline political map of India, locate and label the following places:
(A) The place from where the sepoys broke out into an open revolt on
May 10, 1857
(B) The place from where Mangal Pandey revolted.
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